UNLESS OTHERWISE SPECIFIED:
IIIIIIIIIIIIIIIIIIIIIIIIII

SSSSSSSSS

IIIIIIII

RS106

PPPPPP

Tiptiptap®”

Tiptiptap OU
Veetorni 9,
JUri alevik, Rae vald,
75301 Harjumaa

DESCRIPTION:

Climbing frame MICE

wood, metal, plastic

A4

| SCALE: 1:20




1 2 3 4
safety area
- 4508 _
) )
&
/P,) Q
cPO -
_ Y I
_ 1780 _
<
N N
3 o 1780 Q
| | T N
o0 ] L »
\/ 'Z80
‘ Y
Q £
< o @,
o
LN
Y \
9265 _
depth of foundation 500mm
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM RS106
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 23.09.2013 DESCRIPTION:
APPVD Climbing frame MICE
‘o Tiptiptap OU
(L = = ol Veetorni 9, MATERIAL: A
-}X:P Tiptiptap® ,u; cievik Rae vaa, wood, metal, plastic A4
P 75301 Harjumaa
WEIGHT: | SCALE: 1:20 SHEET 2 OF 8




1 2 3 4
foundation
A
- 4508 _
i
B
A B
(\ (D
L/ N )
LN
| | m
c <t Lt_)
>
0 C D
(\ M
% N
(4]
| | 8
C\ N Y
L/ N
D
Y
850
E
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM RS106
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 23.09.2013 DESCRIPTION:
APPVD Climbing frame MICE
F ..
Tiptiptap OU
. H o0 Veetorni 9, MATERIAL: :
Ti ptl ptap J0ri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:20 SHEET 3 OF 8




4
A
265 _ 2602
1 ] l:
1)
o0 m h(-r)\
B L0
Q\ O o g 2
O o
L Lr)
O | _ B ! B B B B
1
_ 948 _ 2594 _
ground
C
D
L. 2|
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.-
WEIGHT ARE N KLOGRAMM RS106
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 23.09.2013 DESCRIPTION:
APPVD Climbing frame MICE
‘o Tiptiptap OU
Lo ' : o]l Veetorni 9, MATERIAL: :
TX#’ TI ptl ptap JUri alevik, Rae vald, wood, metal, p|OS1’IC A4
75301 Harjumaa
WEIGHT: | SCALE: 1:20

SHEET4 OF 8




1,B
1’A
ITEM PART NUMBER DESCRIPTION QTY
NO. :
1 |post 98x98x2100 laminated wood 4
2 |ladder_horizontal painted steel 1
3 |arch ladder painted steel 1
4 |climbing wall 750x1520 plywood ]
DIMENSIONS ARE N MILLIMETERS PARTNUMBER / DWG NO::
WEIGHT ARE IN KILOGRAMM RS] 06
pe - | Climbing frame MICE
\p ) Ti\;/)’rierTop.(gU
[ L'} - H QU eetorni 9, MATERIAL: K
}X#’ Tlptl ptap Jori alevik, Rae vald, wood, metal, plastic A4

75301 Harjumaa

WEIGHT: | SCALE: 1:25

SHEET5OF 8




A
s t
POS o
/ - wn
ground
3. 1 2 1,3 |
\ \ \» - - S W —
c RIE o
U j - 8
concrete
/ / / X\ g
_ 210 \ R
~ I
P 1
4= ® 300
',LE(S{‘ PART NUMBER
) 1 |screw DIN7504K 5,5x50
E 2 |nuf cover Mé
3 |nut cover cap Mé
4 metal ground fixing L_600
5 |plastic cap 115x115
6 |Woodscrew 6 x 90

UNLESS OTHERWISE SPECIFIED:

PART NUMBER / DWG NO.:

WEIGHT ARE I KILOGRAMM RS106
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 23.09.2013 DESCRIPTION:
APPVD Climbing frame MICE
F Tiptiptap OU connecting metal ground fixing to post
T' t' t o0 Veetorni 9, MATERIAL: :
IPUPTAP  Juri clevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa

WEIGHT: | SCALE: 1:8 SHEET 6 OF 8




NO. PART NUMBER

2 |ladder_horizontal

ladder_vertical

climbing net

nut cover M10

nut DIN985 M10

nut cover cap M10

N[OV MW

olt DIN603 M10x100

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:
RS106

DRAWN

M.Rebase

23.09.2013

APPV'D

LA Tiptiptap®

Tiptiptap OU
Veetorni 9,

Juri alevik, Rae vald,
75301 Harjumaa

DESCRIPTION:

Climbing frame MICE
connecting climbing net and arch ladder

MATERIAL:

wood, metal, plastic A4

WEIGHT: | SCALE: 1:15 SHEET7 OF 8




ITEM
NO. PART NUMBER

] corner 48x60

bolt DIN603 M10x30

nut cover M10

nut cover cap M10

nut DIN985 M10

N WIN

wood screw DIN571 10x60

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:
RS106

NAME

SIGNATURE

DATE

REVISION

DRAWN

M.Rebase

23.09.2013

APPV'D

DESCRIPTION:

Climbing frame MICE

LA Tiptiptap®

Tiptiptap OU
Veetorni 9,

JUri alevik, Roe vald,

75301 Harjumaa

connecting climbing wall to post

MATERIAL:

wood, metal, plastic A4

WEIGHT: | SCALE: 1:12 SHEET8 OF 8




	Sheet1
	Drawing View11

	Sheet2
	Drawing View12

	Sheet3
	Drawing View13

	Sheet4
	Drawing View14
	Drawing View15
	Drawing View16

	Sheet5
	Drawing View17

	Sheet6
	Drawing View18
	Drawing View19

	Sheet7
	Drawing View21

	Sheet8
	Drawing View22


